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And if you will say, food is stricter for it is X»2u» liquids

OVERVIEW

The X713 explained that it was necessary to give a reason why 92X is Ppwn Ravn
only (and not *92) because we may have thought that 218 (which is 2 for it is
TPWn Xnvn) can also be 270 &nwn. Our MdoIN offers an alternate suggestion how
we can derive that 99X is not 2°22 Xnun.

N1v0IN comments:
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We could have derived that %2IX is not 8»w» a “»> through a 1"'p -

1999 NNV XYY 7 130X DN NNV 1IRY YN 195 NPV PN JIIN NHVNIY D N1
And what if a (wX") %95, which is 9218 X»un, nevertheless it is not v92 K»w», so
an 9218 which is not X»v» an 28 can certainly not be X»w» a 2.

SUMMARY
We could derive through a 1" (from *92) that 22X is not >3 Xnun.

THINKING IT OVER
1. What is the advantage of M0 proposed 1" (to derive that 923X is not *22 Xnuvn)
over the s'87n3 method of proving that *25 &nvn Y218 Px?'

2. The X3 previously derived through a 1"p that Ppwn cannot be o°23 &nvn.> Why
did not m»01n ask there as well that we could have made another 1"p similar’ to the
one Moo suggests here?”

! See 1op "o n'"vx.

2 x,m. If 2995 which are Ppwn Xnvn cannot be 2°93 Xnvn, so Ppwn which became Xnv through 2°95 can certainly not be
0°%5 RhvnA.

3 If o*»3 which can be TPWH Xnun cannot be 0°%3 Xnvn, so Ppwn which cannot be 1pwn Xnvn can certainly not be &nvn
9.

* See ®"wnmn and TP "o 'y,
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